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Figures 3 and 4 show two packages for camping lantems.

Figure 3 Figure 4

" W

1970s Camping lantern packaging 2017 Camping lantern packaging

Explain how the packaging for electronic products has changed over time and
possible reasons for this.
[6 marks]
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Figure 8 shows the performance of a Direct Current (DC) motor under different
loads (torque).

Figure 8
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Calculate the equation of the red line in Figure 8.

Use this to calculate the stall torque (torque when the motor stops spinning) in Nm.
[3 marks]

Answer
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Explain how increased accuracy within production processes can reduce waste and
improve efficiency.
[6 marks]
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Explain how developments in manufacturing techniques affected the work of
Bauhaus designers.
[6 marks]
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Figures 11 and 12 show a cantilever chair component formed from laminated
veneers.

Figure 11 Figure 12
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When forming the chair an allowance of 5% must be added to the length.

Calculate the length of laminated veneer (represented by the red line) needed to
form the chair in a single piece to the nearest mm.

For this calculation you should ignore material thickness.

The component is constructed from straight lines and circular arcs,

[3 marks]




image8.png
.[1] Analyse and evaluate the success of two portable MP3 players using the data shown

in the Product Life Cycle (PLC) graph in Figure 13,

[6 marks]
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2] Explain how a manufacturer of music players can prevent the decline in sales of

their product
[6 marks]
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Explain how the work of Philippe Starck reflects the postmode design movement.
[6 marks]
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Table 1

Backer's pledge (£p) Number of backers
0<x=20

20<x<40 20
40<x<60 16

60 <x <100 20





image12.png
Calculate the percentage (%) of people who supported the campaign with a pledge
of £20 or less.
[2 marks]
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Figure 10 shows the intemal view of an injection moulded component

Figure 10
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State the function of each of the labelled features.
[3 marks]
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0]4] The battery life of a rechargeable battery was tested in a handheld electronic device. The

test was repeated 11 times with a new battery each time.

The results are shown in the table below.

1 2 3 4 5 6 7 8 9 [ 10 | 1

Batterylite | g5 | 110 | 180 | 130 | 90 | 220 | 150 | 75 | 0 | 180 | 210
(in minutes)

On the grid below draw a box plot to show the results.
[4 marks]

10 20 30 40 50 60 70 80 90 100 110120 130 140 150 160 170 180 190 200 210220 230




image15.png
Give three reasons why consumers may look for the FSC logo on products they
purchase.
[3 marks]
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